RY2021 Common Questions:
Q: How do I fix these errors?

There were 5 errars in your inventory:

* Emissions path SEQT20:PECT20:REQT20:: Routing Emissiens: PM10 Primary (72.688) must be greater than or equal to PM
Condensable (33,414} plus PM10 Filterable (32.273).

* Emissions path SEQT21:PEQT21:REQT21: Routine Emissions: PM10 Primary (12.529) must be greater than or equal to PM
Condensable (9.296) plus PM10 Filterable (3.132).

& Emissions path SEQT21:PEQT21:REQT21: Routing Emissions: PM25 Primary (12.529) must be greater than or equal to PM
Condensable (9.396) plus PM25 Filtersble (3.132).

s Emissions path SEQT30:PEQT30:REQT30: Routing Emissions: FM25 Primary (28.036) must be grester than or equal to PM
Condensable (24.04) plus PM25 Filterable (3.995).

s Emissions path SEQT32:PEQT32:REQT32: Routine Emissions: PM10 Primary (16.547) must be grester than or equal to PM
Condensable (12251} plus PM10 Filterable (4.295).

A: Rounding PM Primary to 2 decimal places will resolve the error.
Q: | tried to update my email preferences and it didn’t work. What do | do?

A: ERIC Email Signup <- Click this link if you want to receive any email that goes to the ERIC Community.
We are working on fixing the system generated email preference options, like access request notifications and
certification received notifications.




